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HalfWave 060 40km/h 60km/h
HalfWave 080 40km/h 80km/h
OneWave+ 50km/h==20km/h 1 (+)
OneWave- 50km/h==20km/h 1 (=)
TwoWaves+ 50km/h=+20km/h 2 (+)
TwoWaves- 50km/h=+=20km/h 2 (=)
ThreeWavs+ 50km/h=20km/h 3 (+)
ThreeWavs- 50km/h==20km/h 3 ()
Random 40km/h-80km/h
V20 20km/h
V40 40km/h
V60 60km/h
V80 80km/h
V40 40km/h
V60 60km/h
V80 80km/h
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0.094 0076 ] 0.110] 0.094
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0.000 -0.004 | 0.001 | 0.000
6.602 5.000 [ 3.203 | 2.905
0.033 0.104 | 0.168 [ 0.229
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0.221 -0.079 [ -0.439 | -0.450
8.883 5141 4771 | 5.747
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0.000 -0.001 [ 0.000 | 0.000
5.845 2676 [ 2834 | 2594
0.022 0.085| 0.086( 0.144
6.805 6.892 [ 5236 | 7.072
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21.692 7.008 | 5.202 | 6.328
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R
RZ
R2



DM1

09
08
0.7
0.6
05
04 r
03 r
02 r
01 r

DM2 R?
DM1 MM
R
DM1I MM
[ Rm2

o

[+GM = DM1 -+ MM

G02 GO03 GO04 GO5 GO6 GO7 GO8 GO9 G10

09
08
0.7
0.6
0.5
0.4
03 r
02 r
01

RZ

[ R 2

e

AT T

[~ on =-ous ]

G02 GO03 G04 GO5 GO06 GO7 GO08 GO09 G10

1
0.9

08
07
06
05
04
03 r
02
01

0

GM

3.44

IR 2[@GM mDM]
@DM2 O MM

S C sC Cs
RZ
DM1 MM t F
t
t F
t
2.306 F

t F
t 12 11
F 12
R
DM1 MM
R 0.8
a=5 a=5
S GM DM1 |[MM C GM DM1 [MM
GM 1.38 | 10.46 GM 6.29 | 11.57
DM1 | 0912 7.60 DM1 | 6.776 1.84
MM | 6.094 | 7.827 MM | 8633 | 7.409
SC a= CS a
SC [cM [pM1 MM CS |GM—z[DM1 [MM
GM 7.99 [ 1476 GM 759 | 26.99
DM1 | 8.957 1.85 DM1 | 7.652 3.56
MM | 8.965 | 4.552 MM _[ 9553 [ 5.701
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